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４．電気・電子回路 1/3 

 １ 
(1.1) r = 𝑅𝐴10.01 − 1 = 1000/99[Ω] 

𝑟2 = 𝑟 × 110 = 100/99[Ω] 𝑟1 = 𝑟 − 𝑟2 = 100/11[Ω] 
 
(1.2) 𝑃 ・𝐿 =ܫ 𝑉 − 𝑅𝐴2ܫ(= 𝑅𝐿2ܫ) 𝑃 ・𝐿 =ܫ 𝑉 −𝑉2𝑅𝑉 (= 𝑉2𝑅𝐿 ) 

(1.3) 

P = VI = { (𝑅𝐴 + 𝑅𝐿)2ܫ     ・・・ (b)( 1𝑅𝑉 + 1𝑅𝐿) 𝑉2     ・・・(c) 

 

(b) 𝛥𝑃𝐿𝑃𝐿 = 𝑃−𝑃𝐿𝑃𝐿 = 𝑅𝐴𝑅𝐿  

 

(c) 𝛥𝑃𝐿𝑃𝐿 = 𝑃−𝑃𝐿𝑃𝐿 = 𝑅𝐿𝑅𝑉  

 

よって，
𝑅𝐴𝑅𝐿 < 𝑅𝐿𝑅𝑉 ,  𝑅𝐿 > √𝑅𝐴𝑅𝑉 

 

得点 
 

（科目合計点） 
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４．電気・電子回路 2/3 

 ２ 
(2.1) 𝑍3 = 𝑅3 + 1 ݆◌𝜔𝐶3 , 𝑍𝑥 = 𝑅𝑥  ݆◌+ 𝜔𝐿𝑥  

 
(2.2) 1 ݆◌𝜔𝐶1 ・(𝑅𝑥  ݆◌+ 𝜔𝐿𝑥 ) = 𝑅2・ (𝑅3 + 1 ݆◌𝜔𝐶3) 

𝑅𝑥 = 𝐶1𝐶3 𝑅2 = 12・2[kΩ] = 1[kΩ] 𝐿𝑥 = 𝑅2𝑅3𝐶1 = 8[𝐻] 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

得点 
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４．電気・電子回路 3/3 

 ３ 
(3.1) 

𝑉 ௨・ 𝑡1 = − 𝑅𝑅 𝑉𝑖𝑛1 = −𝑉𝑖𝑛1 

(3.2) 𝑉 ௨・ 𝑡2 = (1 + 𝑅𝑅)  ݆◌− 𝑋𝑐 ݆◌𝑅 − 𝑋𝑐 𝑉𝑖𝑛2 =  ݆◌− 2𝑋𝑐 ݆◌𝑅 − 𝑋𝑐 𝑉𝑖𝑛2 

(3.3) 
重ね合わせの理より 𝑉 ௨・ 𝑡3 = 𝑉 ௨・ 𝑡1 + 𝑉 ௨・ 𝑡2  𝑉 ௨・ 𝑡3 = (−1 +  ݆◌− 2𝑋𝑐 ݆◌𝑅 − 𝑋𝑐) 𝑉𝑖𝑛3  

G(jω) =  ݆◌1 − 𝜔𝑅𝐶 ݆◌1 + 𝜔𝑅𝐶 
(3.4) |G(jω)| = |  ݆◌1 − 𝜔𝑅𝐶||  ݆◌1 + 𝜔𝑅𝐶| = √12 + (𝜔𝑅𝐶)2√12 + (𝜔𝑅𝐶)2 = 1 

(3.5) 
位相ずれφ φ = arg (  ݆◌1 − 𝜔𝑅𝐶 ݆◌1 + 𝜔𝑅𝐶 (◌ܽ ݐ = 𝑛−1 (− 𝜔𝑅𝐶1 (◌ܽ ݐ − 𝑛−1 (𝜔𝑅𝐶1 (◌ܽ ݐ = − 2𝑛−1(𝜔𝑅𝐶) G(jω) =◌ܽ ݐ 1∠ − 2𝑛−1(𝜔𝑅𝐶) 

⇒𝑉 ௨・ 𝑡3 =ݏ 𝑉 𝑖 𝑛(𝜔◌ܽ ݐݐ 2 − 𝑛−1(𝜔𝑅𝐶) (ݏ = 𝑉 𝑖 𝑛(𝜔◌ܽ ݐݐ 2 − 𝑛−1(𝜔𝑅𝐶)) 
 

 得点 
 

 


